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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in English language. Candidate can
answer in English language only.
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There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.
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PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the invigilator. Failingin doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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1.1

1.2

1.3

PART ONE

(Answer all questions. Each question

carries ONE mark)

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the "OMR"
answer sheet supplied with the question
paper, following instructions therein.

(1x10)

Which one of the following task is not done
by data link layer ?
A) Framing

B) Error control

o =

(
(
(C) Flow control

(D) Channel coding

Which one of the following is a data link
protocol ?

(A) Ethernet
B) Point-to-point protocol
HDLC

D) All of the mentioned

has the highest transmission

speed in a network.

A) Coaxial cable

(
(B
(
(

~—"

Twisted pair cable

0

) Optical fiber cable

D) Electrical cable

1.4 The physical layer translates logical

1.5

1.6

communication requests from the
into hardware specific

operations.

(A) Data link layer

(B) Network layer
©)

Transport layer

(D) Application layer

Which one of the following is not a
function of network layer ?

(A) Routing

(B) Inter-Networking

(€) Congestion control

(D) None of the mentioned

The translates internet

domain and host names to IP address.

(A) Domain name system

(B) Routing information protocol
©)

Network time protocol

(D) Internet relay chat
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1.8

1.9

___________ delivers/stores mail to
receiver server.

(A) Simple mail transfer protocol
(B) Post office protocol

(C) Internet mail access protocol
(D) Hypertext transfer protocol

When displaying a web page, the
application layer uses the

(A) HTTP protocol

(B) FTP protocol

(C) SMTP protocol

(D) None of the mentioned

The sharing of a medium and its link by

two or more devices is called
(A) Full Duplexing

(B) Multiplexing

(C) Both (A) and (B)

(D) None of the options

Three or more devices share a link in

_____ connection.
(A) Unipoint

(B) Multipoint

(C) Point-to-point

(D) None of the options

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the "OMR"
answer sheet supplied with the question
paper, following instructions therein.

(1x10)

LAN type of network is used for small
geographical area such as in a one
building.

Hubs regenerate electrical signals, which
are specified at the Data Link layer.

Routers provide packet switching, packet
filtering, internetwork communication and
path selection.

The main advantage of a layered model is
that it can allow application developers to
change aspects of a program in just one
layer of the layer model's specifications.

Classful routing means that all hosts in the
internetwork use the different mask.

Physical or logical arrangement of network
is called routing.

Transport layer protocols deals with
application to application communication.

The technical specification of Ethernet is
IEEE 802.3 standard.

Network layer provides data routing paths
for network communications.

Protocols are Logical communication
channels for transferring data.
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3.  Match words and phrases in column X with the closest related meaning/word(s)/phrase(s)

in column Y. Enter your selection in the "OMR" answer sheet supplied with the question

paper, following instructions therein. (1x10)
Column X Column Y
3.1 | Ping Command A. | Resource Sharing
3.2 | File Server B. | File Transfer
3.3 | Physical Layer C. | SMTP
3.4 | Transport Layer D. | Routers
35 | FIP E. Full duplex
3.6 | Two way traffic F. Electromagnetic signals
3.7 | Application Layer G. | Unreliable Protocol
3.8 | Email H. | Network Connectivity
3.9 | Network Layer I. Switch
3.10| UDP J. End to end delivery
K. | HITP
Optical Fiber
M. | Radio signals

Page 4 SPACE FOR ROUGH WORK A9.3-R5-09-21



4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list

below. Choose the most appropriate option, enter your choice in the "OMR" answer

sheet supplied with the question paper, following instructions therein. (1x10)
A. |[DHCP B. |Star topology C. |Port D. |End system
E. |IP F. |Optical fiber G. |Data link layer | H. |Bus topology
I. [MAC J. |Session layer K. [Physical layer | L. |End to end
M. |PCM

4.1 Transport layer is implemented in

4.2

4.3

4.4

4.5

4.6

4.7

4.8

4.9

has the highest transmission speed in a network.

The physical layer translates logical communication requests from the into
hardware specific operations.

The data link layer takes the packets from and encapsulates them into frames
for transmission.

Delimiting and synchronization of data exchange is provided by

assigns IP address to the client connected in the internet.

In , there is a central controller or hub.

requires multipoint connection.

Application layer offers service.

4.10 To deliver a message to the correct application program running on a host, the

address must be specified.
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PART TWO

(Answer any FOUR questions)

Explain about the IP Version
4 Protocol.

Differentiate between CSMA/CA

and CSMA/CD mechanism.
(7+8)

5 (@) What are the app}ications of (a) Explain the TCP/IP reference model
Computer Networks ? with neat diagram.

(b) What is OSI Model ? Explain the (b) Expla%n the ('iiffe.rence be.tween
functions, protocols and services of following multiplexing techniques :
each layer.

(i) Frequency Division
Multiplexing (FDM)

(c)  Explain about the different types of
Transmission medias in computer (i) Time Division Multiplexing
networks. (5+5+5) (TDM) (8+7)

-00o0-
6 (a) Explain about Sliding Window
Protocols.
(b) Explain the following :
(i) TCP (i) UDP

(c) Explain about the Carrier Sense
Multiple Access Protocols.

(4+5+6)
7 (a) Explain about the wireless LAN
(IEEE802.11).

(b) What are the Network layer design
issues ? (7+8)
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